Making Short Work Of An Annual Report

By Paul W. Schneider       (This is the primative beginning of the so called Schneider/Hess Excel spreadsheet, but a good training tool to hand calculate some basic fundamentals from an annual report)
You can make short work of an annual report (without falling asleep over it) by  heading straight for the tables of financial contents.  At this stage, we  assume you have already completed a satisfactory SSG from the Valueline and are either contemplating buying the stock or  already own it.

You may view or print out selected pages of  the annual report from the company  website listed in Value Line or  get a printout of the SEC Form 10K annual filing from Edgarscan at http://edgarscan.pwcglobal.com/servlets/edgarscan
The 3 required tables  are The Statement of Income, The Balance Sheet, and The Statement of Cash Flows.  The following items of information can be found and tabulated from these tables onto the following worksheet and then used to calculate some numbers to get a good idea of the financial strength of your company:  (Later we will describe how to calculate the numbers and what they mean to you)

(All dollar amounts should be tabulated either in thousands (TH) or millions (M) of dollars for uniformity)

Required Information that can be found on the Statement of Income:  

1. Name of Company, fiscal year, month and year that the fiscal year ends
_____________________

2. Net profit, also called Net Income or Net earnings


_____________________

3. Income before taxes






_____________________

4. Income tax







_____________________

5. Sales, also called Revenues





_____________________

6. Number of Diluted Shares at the end of the year



_____________________

7. Number of Diluted Shares at the end of the previous year


_____________________

8. Tax rate= item 4  divided by item 3




_____________________

Required Information that can be found on the Balance Sheet:

9. Current assets






_____________________

10. Current liabilities






_____________________

11. Cash and equivalents






_____________________

12. Equity at end of the year





_____________________

13. Equity at end of previous year





_____________________

14. Average equity= average of item 12 and 13



_____________________

15. Interest expense ( if none, use zero)   



               _____________________ 

16 Long term debt






_____________________

17 Total assets







_____________________

Required Information that can be found on the Statement of Cash Flow:

18.   Net earnings (same as item 2 above)




_____________________

19.  Net cash "provided by"/ ("used in") operating activities


_____________________

20.  Net cash "provided by"/ ("used in") investing activities


_____________________

21.  Net cash "provided by"/ ("used in") financing activities


_____________________

22.  Dividends (if none, use zero)





_____________________

Required Input from Valueline:

23. Total debt  (This is usually not separately tabulated on annual report.
_____________________

 Each company may calculate this differently. Valueline uses a uniform approach.)

Calculating the Answers and What They Mean to You:

24.   Current ratio= current assets / current liabilities  = item 9/ item 10

_____________________

This is a measure of short term liquidity where current assets (available in one year) could be used to pay off current liabilities (debt due within one year).  A ratio of  1 to 2 is typical depending on the company business nature.  Higher is better, but numbers over 3 or 4 indicate excess cash that may not be put to work efficiently.  Less than 1 is called negative working capitol and is  rare or used as an interest free way of raising cash.  (Omnicom  OMC, an advertising company, for example is negative (ratio less than 1) every year.)  For some businesses, negative working capitol may not be a bad thing.

25.  Acid test ratio= (cash & equivalents) /  current liabilities = item 11/ item 10
____________________

This is an even more stringent liquidity test where theoretically  only the cash and equivalents (which are more immediately available) would be used to pay off the current liabilities.

26.   Pretax profit = net profit / (1- tax rate)  = item 2 / (1- item 8) =

_____________________

Calculates the profits before paying taxes from known after-tax net profits. Eliminates the effect of tax differences when making comparisons between companies.

27. % Pretax profit margin=(pretax profit / sales ) x 100.= (item 26 / item 5)x 100.= __________________

Shows how profitable the company is, taking into account all income and all costs before paying income taxes. Higher is better.  Compare companies in the same industry, since margins differ significantly between industries.

28. % Net profit margin = (net profit / sales ) x 100. = (item 2 / item 5)x 100. =______________________

% Profitability compared to sales after all taxes have been paid.

29. % Return on equity= (net profit / average equity) x100 = (item 2 /item 14) x 100= ________________

The rate of investment return the company earns on stockholder's equity.  In this case, equity is calculated by averaging the stockholders equity at the beginning and end of the fiscal year. 

30. %Reinvestment rate= % Return on equity x (earnings - dividends)/ earnings 

= item 29 x (item 2- item 22)/ item 2 =




_____________________

The reinvestment rate (also called the internal growth rate)  is very important because it is the rate of return of money left over from the return on equity, after paying dividends (if any),  that can be plowed back into the business to help it grow.  A company can grow by using either available reinvestment funds or by borrowing money.  This is why rapidly growing companies prefer not to pay dividends. The fraction of earnings retained after paying dividends  is called the retention rate.  If no dividends are paid, the reinvestment rate and the return on equity are the same.

31. Total debt to equity ratio = total debt / avg. equity = item 23 / item 14 = 
_____________________

Lower debt may  permit management to have greater flexibility during difficult economic times and to pay less interest costs in servicing the debt. Normally long term debt is used. However, I use total debt and therefore get a much more pessimistic number.  GE recently criticized for having a lot of short term debt in form of commercial paper.  (March 2002)  Debt not necessarily bad if properly managed.

32. %Share buyback = (# shares last year - # shares this year) / # shares last year 

= (item 7 - item 6) x 100. / item 7  =




_____________________

If a company actually buys back its shares (rather than just authorizes it), the earnings per share will increase and existing stockholders own a greater percentage of the company.  If this calculated number above is negative, set it equal to zero and calculate the share dilution below, which is the opposite effect.

33. % Share dilution= (item 6 - item 7) x 100. / item 7 = 


_____________________

If the company increases the number of shares, the existing shareholders own a reduced percentage of the company and earn less earnings per share.  (If this calculated number is negative, set it equal to zero because you have share buyback as in step 32.)

34. Net cash = (cash & equivalents - long term debt) = item 11 - item 16 = 
_____________________

This will be a positive number for a company with lots of cash and little or no debt.  A large positive number is an ideal signal of financial strength, but a lot of good companies will also have negative net cash.

35. %Return on total assets= (net profit / total assets) x 100. = (item 2 / item 17) x 100. =_______________

Having a high return on total assets as well as a high return on equity is important, since a poor company can show a high return on equity in a given year simply by showing a profit with a tiny amount of equity.  Both return on assets and return on equity should be examined.

36.  Interest coverage ratio = (pretax profit - interest expense) / interest expense 

=(item 26 - item 15) / item 15  =  





_____________________

This is expressed as a ratio of the number of times the excess of pretax profit over the interest expense exceeds the interest expense.  Higher numbers show an increased capability to handle interest costs.

37. % Return on invested capital = (net profit) x 100. / (avg. equity + long term debt)

= (item 2) x 100. / ( item 14 + item 16) =




_____________________

Return on invested capital is  a measure of the efficiency by which management is utilizing both the equity and the long term debt under its care.  It is a far better measure of management than return on equity when  a company has large long term debt.  If long term debt were zero, the return on invested capital and return on equity would be the same.

38. Operating Cash Flow Coverage is a ratio of the operating cash flow "provided by" the main business of operating activities (item 19) divided by the combined costs  "used in"  capitol expenditures (investing activities, item 20) and debt financing costs (financing activities, item 21). 

= item 19 / (item 20 + item 21)=





_____________________

The larger this ratio is (say one or above) , the less dependence on spending for capitol expenditures and debt repayment.  The latter two, in the denominator, are usually users of cash but are labeled as a positive number for this calculation purpose (reverse sign of denominator).

A less desirable situation arises when the Operating Activities (item 19), or main business, becomes a "user" of cash  instead of a "provider" of cash because the main business is not  self sufficient and must depend on borrowed money from financing activities (item 21) which then becomes a "provider" of cash instead of a "user."(as when debt is paid off.)    Investing Activity (item 20 in the denominator) is usually for capitol expenditures and is normally a "user of cash" unless for example when they are selling off facilities instead of buying them and would in that instance become a "provider of cash."

Examining these three parts of the Cash Flow Statement is of major importance in determining the quality of the total cash flow of a company and goes far beyond the Cash Flow Coverage Ratio discussed above.

I keep a summary table up-to-date of the calculated results of items 24 through 38 for all the companies in my  portfolio as well as for stocks that are candidates for purchase.  A comparison between different companies and industries is very informative and helpful in comparative judging between stock candidates for purchase.  Often  companies leveraged on the ragged edge can become popular and have successful price appreciation in a booming market.   In a downturn however, owning companies with solid financial data as defined by these numbers will provide greater long term security.  I have rejected many stocks as a result of looking at these financial analyses that would otherwise look good using other criteria.

By providing  a method to quickly analyze the numbers of an annual report, is not to imply that the report should not be read in its entirety.  Read the annual report as well as the proxy and latest 10Qs  in addition to making the above calculations.  I always order the report (or get the 10K on line) prior to purchasing a stock and keep up with the annual reports for stocks that I have held for years.  I warn that some stocks with great annual report numbers can still have poor price performance. (For instance a drug company that is living off the laurels of one key drug ready of to off patent. e.g. Schering Plough in 2001)

As a closing note, you should fully expect that the numbers that you calculate may differ from numbers you see already calculated and published for you on the internet, annual reports, or in Valueline.  For instance, a different time frame may be used such as trailing twelve months  (ttm) instead of fiscal year. Also calculations that involve the terms "equity" or "numbers of shares" will often use different definitions. Return on equity may use equity at the end of the year instead of average equity which averages the beginning and end of the year, etc.  Number of shares usually assume dilution and average number of shares from beginning to end of the year.  Debt to equity ratio usually uses long term debt, not total debt as I have done here. As long as you personally calculate all your companies the same way, you should not be mislead or have to rely on how it is done for you by other sources.

